Name: _______________


Pythagorean Theorem Notes + Assignment
Perfect Square - a number that is a product of some integer with itself 

e.g. 9 is a square number, its square root is 3

Square Root – a square root of a number x is a number r such that r2 = x, or, in other words, a number r whose square (the result of multiplying the number by itself, or r × r) is x.

e.g.  4 is a square root of 16 because 4 squared equals 16.
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Pythagorean Theorem:
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a2 + b2 = c2
The longest side of a right 
Hypotenuse is represented by the letter c. 
The two shorter sides are represented by the letters a and b.
This ONLY works for right triangles (triangles with 90o) angles
1) Find x
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2) Marc is going to paint the exterior of his house. He has a 40-foot ladder and knows that for safety reasons the base of the ladder must be between 9 and 12 feet from the base of the wall. What are the maximum and the minimum heights the ladder will reach up the wall?

Pythagorean Theorem    Assignment

1) Use the Pythagorean theorem to find the lengths of the missing sides of the triangles to the nearest tenth of a unit.

 

2) Calculate the values of x and y. 


3) A 40-foot ladder reaches 38 feet up the side of a house. How far from the base of the house is the foot of the ladder? 


4) A field is 120 m by 180 m. How much shorter is your route if you walk diagonally across the field rather than walking around the edge to the opposite corner?


5) Find the length of the pond?
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6) Mining is a major industry in Saskatchewan, and safety is a primary concern. An air shaft must be drilled from a mine tunnel to the surface of a hill at 75 m intervals, measured horizontally along the tunnel. How long, to the nearest metre, is the shaft if it emerges 94 m up the slope of the hill as indicated in the diagram?


